
USER GUIDE

USER GUIDE

PANACHE T2, T4 & T6

panache-rack.com

© Copyright Panache-Rack 2024 Page 1 of 17 April 6, 2024 - Rev. 7



USER GUIDE

TABLE OF CONTENTS

1 INTRODUCTION 3
2 INTENDED USE 3
3 WARNINGS 3
4 WARRANTY 5
5 INSTALLATION 6
7 HOW TO USE THE RACK 12
8 MAINTENANCE 13
9 SPARE PARTS 14

FIND THE ELECTRONIC EDITION OF THIS MANUAL HERE!

FIND OUT HOW TO INSTALL THE BIKE RACK ON YOUTUBE!

© Copyright Panache-Rack 2024 Page 2 of 17 April 6, 2024 - Rev. 7



USER GUIDE

INTRODUCTION
Thank you for choosing a Panache bike rack. We hope this product will fulfill your expectations
for years to come. We've designed this product to be easy to use and reliable, no matter what
type of bike you have. Whether it's a mountain bike, road bike or children's bike, they can all be
mounted on the Panache bike rack.

If you have any comments or questions, please don't hesitate to contact us at
info@panache-rack.com.

INTENDED USE
PANACHE bike racks are designed to be installed on a trailer hitch at the rear of a vehicle. They
are designed to carry road, mountain, hybrid, fat bikes or children's bikes..

WARNINGS

Please read the following warnings carefully before using PANACHE products.

● It is your responsibility to follow the installation and operating instructions.

● Do not install the bike rack on a trailer or caravan. Including fifth wheels, campers or
motorhomes with an overhang of more than 72" (distance from the center of the rear wheel
to the end of the trailer hitch receiver).

● T2, Maximum capacity per hook: 55 lb - Maximum capacity of bike carrier: 110 lb

● T4, Maximum capacity per hook: 55 lb - Maximum rack capacity: 220 lb

● T6, Maximum capacity per hook, 2 center hooks: 55 lbs, 4 outside hooks: 40 lbs - Maximum
rack capacity: 240 lbs

● It is your responsibility to ensure that your vehicle has the necessary vertical load capacity
"tongue weight" to support the weight of your PANACHE bicycle rack plus the weight of your
bicycles. ( minimum of 200 lbs T2, 300 lbs T4 and 350 lbs T6 )

● It is your responsibility to ensure that your trailer hitch is adequate and in good condition. In
addition, it must have the necessary vertical load capacity "tongue weightl" to support the
weight of your PANACHE bike carrier plus the weight of your bikes. (minimum of 200 lbs T2,
300 lbs T4 and 350 lbs T6 )

● PANACHE is not responsible for breakage, damage or injury caused by improper installation
or use of its products.

● Never modify the PANACHE bike rack.

● Remove the luggage racks from the bike before installing it on the PANACHE rack.

© Copyright Panache-Rack 2024 Page 3 of 17 April 6, 2024 - Rev. 7



USER GUIDE
● Always assume the correct position when installing the bracket on the hitch. Don't hesitate to

ask for help.

● Always attach the bike to the rack using a retaining strap that passes through the inside of
the bike frame, not the rear wheel.

● All easily removable parts on the bike must be removed before installing the bike on the
Panache rack. For example: water bottle, computer, pump, bag, etc.

● Always ensure that handlebars, stem, fork stem and all other parts of your bike are securely
fastened together.

● Please disable the automatic opening of your vehicle's tailgate to avoid damage and injury
to people, vehicles, bike racks and bicycles.

● Always use the lights and signs required by local laws and regulations.

● It is the driver's responsibility to adapt speed to road conditions. The PANACHE bike rack is
not designed for off-road use. Reduce your speed to pass over all obstacles and speed
bumps.

● Adding a bike rack changes the dimensions and aerodynamic characteristics of your vehicle.
It is your responsibility to adapt your driving style as if you were traveling with a trailer.

● It is your responsibility to inspect the PANACHE bike rack regularly to ensure that it is
properly installed and in good condition before moving off.

● Be aware that the addition of a bike rack and bicycles may cause additional noise as it alters
the aerodynamics of your vehicle.

● Using the PANACHE bike rack in winter will cause paintwork and other rack components to
deteriorate more quickly.

● PANACHE bike racks are designed to be installed directly to your vehicle's trailer hitch and
not to any other accessory. PANACHE is not responsible if the bike rack is not compatible
with accessories from other manufacturers.

● Exercise caution when entering sloping parking areas to prevent bikes from touching the
ground. Depending on the vehicle combination, the position of the trailer hitch and the size
of the bicycles, it is possible for the rear wheel of the bicycle to touch the ground on slopes
(e.g. when entering or exiting a parking lot on a slope).

© Copyright Panache-Rack 2024 Page 4 of 17 April 6, 2024 - Rev. 7



USER GUIDE

WARRANTY

PANACHE warrants its products to be free from manufacturing defects under normal use for a
period of 1 year from the date of purchase. This warranty does not apply to products and
components that must be replaced after normal wear and tear or as a result of negligence,
abuse, damage caused by transport or use contrary to the instructions and warnings given in
this guide. Likewise, it does not apply to devices that have been modified or repaired by anyone
other than PANACHE-authorized repairers.

Any repairs carried out on PANACHE products after the warranty period will be invoiced at the
company's regular rates.

© Copyright Panache-Rack 2024 Page 5 of 17 April 6, 2024 - Rev. 7



USER GUIDE

INSTALLATION

Tools required: ● 3/4" wrench or 3/4" ratchet
● 9/16" wrench or 9/16" ratchet wrench
● 1/2" wrench

Bolts supplied : ● 1x 1/2''-13 x 3.5" bolt
● 2x 1/2''-13 x 1.5" bolt
● 2x 1/2''-13 x 5.5" bolt
● 1x 1/2" flat washer
● 5x 1/2''-13 nut
● 1x Pin with handle
● 6x 5/16''-18 x 3/4" bolt
● 8x or 12x 5/16''-18 x 1" bolt
● 18x or 14x Nut 5/16''-18
● 4x or 6x Black elastic for bike

attachment

Step 1: Make sure the trailer hitch is free of rust and dirt. Lightly grease the inside.

NOTE FOR 1.25” HITCH MOUNTS: If you are installing a 1.25” adaptor simply insert
the 1.25” adaptor into the hitch and align the mounting holes. Then use the 1/2" x 1.5"
bolt to secure the adaptor in place. Once done skip to STEP 6

Image of 1.25 hitch adaptor

Step 2: Using one hand, align the cylinder nut, wedge and foot and insert into the trailer hitch.
Insert the foot as close as possible to the car's bumper, ensuring that the wedge never
protrudes beyond the end of the trailer hitch.

Step 3: Align the trailer hitch hole with a hole in the adaptor. Make sure there is no interference
between the foot and the vehicle tailgate.

Step 4: Tighten the wedge bolt while moving the foot vigorously until there is no play.

© Copyright Panache-Rack 2024 Page 6 of 17 April 6, 2024 - Rev. 7



USER GUIDE

Step 5: Insert the security pin into the security pin hole in the hitch. It is normal for the pin not to
pass through the entire adaptor. The security pin must be installed at all times during use.

CAUTION: If the wedge protrudes beyond the trailer hitch, do not use the adaptor or rack.
Please contact us.

2'' RACK BASE ADAPTOR INSTALLED IN HITCH

© Copyright Panache-Rack 2024 Page 7 of 17 April 6, 2024 - Rev. 7



USER GUIDE

Do not overtighten the wedge bolt. Tighten to remove play.

Do not use the support without inserting the security pin.

Step 6: Install the bike rack mast on the adaptor. Choose the hole that avoids interference
between the tailgate opening and the bike rack.

Step 7: Install the hitch pin with red handle in the top hole. The mast now stands on its own.

© Copyright Panache-Rack 2024 Page 8 of 17 April 6, 2024 - Rev. 7



USER GUIDE

Step 8: Insert 1/2" x 3.5" bolt in bottom hole.

a. NOTE: this bolt acts as a pivot. Once installed, the bike rack must be able to tilt
backwards freely.

b. IMPORTANT: note that the holes you choose define the ground clearance
between your bike's rear wheel and the ground. Consequently, if your vehicle is
low and your bike very tall, choose the highest holes on the stand.

Step 8: Install the bike parking and bicycle tire clamps with 6 bolts 5/16" x 3/4" and nuts.

NOTE: If necessary, adjust the space
between the bike parking plates so that the
bike tire fits properly. Loosen 2 mounting
bolts and adjust to the desired width, then
retighten the bolts to the desired position.

© Copyright Panache-Rack 2024 Page 9 of 17 April 6, 2024 - Rev. 7



USER GUIDE

Step 9: Install the hooks supplied under the mounting plates on the head tube. Secure each
hook with 2 bolts 5/16''-18 x 1" and 2 nuts 5/16". Adjust angle as required.

ATTENTION: Make sure that the
handlebars/brake or shifter levers do not
touch each other once the bikes are
installed on the hooks. Also, the frame of
the bikes should be parallel to the mast
(perpendicular to the head tube). If there is
any interference, adjust the angle of the
hooks. Simply loosen the screw and nut on
the oblong hole and adjust as necessary.

© Copyright Panache-Rack 2024 Page 10 of 17 April 6, 2024 - Rev. 7



USER GUIDE

Step 10: Install head tube with 1/2" x 5.5" bolts and nuts.

Step 11: Install the two trombone tire rests using 1/2" x 1.5" bolts and nuts.

© Copyright Panache-Rack 2024 Page 11 of 17 April 6, 2024 - Rev. 7



USER GUIDE

HOW TO USE THE RACK

Always install the heavier bikes in the center of the rack and the lighter ones on the outside.

When facing the rack, always load bikes from right to left first.

To load the bikes onto the rack, please follow the sequence below:

1. On the ground, place the bike in a horizontal position with the rear wheel close to
the rack.

2. Stand on the right-hand side of your bike. With your left hand, grasp the rear
triangle and with your right hand, the fork.

3. Raise the bike vertically, with the front wheel pointing skywards, and insert the
handlebars and stem into the bike rack hook. Guide the angle of the handlebars
with your right hand on the fork.

4. Lower the bike to suspend it.

5. Using the supplied elastic strap, anchor a hook and pass it through the main
triangle of the bike frame.

6. Anchor the other end of the elastic strap to the mounting plate.

7. Make sure the elastic strap is taut.

8. Repeat the same sequence according to the number of bikes.

9. Before setting off, make sure all straps are installed, in good condition, taut and
holding the bikes securely.

© Copyright Panache-Rack 2024 Page 12 of 17 April 6, 2024 - Rev. 7



USER GUIDE

MAINTENANCE

We recommend that you carry out certain maintenance tasks a few times during the season to
prevent breakages and incidents, and to preserve the condition of your bike rack..

✔ Inspect the entire bike rack for loose, damaged or worn parts.

✔ Tighten all hardware as required.

✔ Inspect mounting straps for breakage or wear.

✔ Check that the hitch adaptor is securely fastened in the trailer hitch. Tighten if necessary.

✔ Check that the mast is securely fastened to the hitch adaptor. Tighten if necessary.

✔ Treat the inside of the tubes, especially the ends, with rustproofing.

✔ Clean the stand regularly to keep it clean. Wash with mild soap and rinse. Wash with low
pressure to avoid damaging paint and stickers.

PANACHE accepts no responsibility for any incident that may occur if maintenance has not
been carried out as described in this manual.

© Copyright Panache-Rack 2024 Page 13 of 17 April 6, 2024 - Rev. 7



USER GUIDE

SPARE PARTS

© Copyright Panache-Rack 2024 Page 14 of 17 April 6, 2024 - Rev. 7



USER GUIDE

All bolts are made of stainless steel, and given the seizing nature of stainless steel, they have
been coated with Loctite 8150 anti-seize grease. Here is part of the safety data sheet for this
product, as well as its technical data sheet.

© Copyright Panache-Rack 2024 Page 15 of 17 April 6, 2024 - Rev. 7



USER GUIDE

© Copyright Panache-Rack 2024 Page 16 of 17 April 6, 2024 - Rev. 7



USER GUIDE

© Copyright Panache-Rack 2024 Page 17 of 17 April 6, 2024 - Rev. 7


